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Case of fieldsroof S
be fin .

State
. We're t The

.

I almost purity for char
.

O Perf'd fields
-

show : R60- So is asus
. fin.

It Ferro-Fetk
-

will
fa

· finiteroj.
Let Em* K

.

we Wfind maps k isk

S

= /*% so is an equivalence.

St comp is must. by E
. Then Proof.
-

- clearly : So is alm
. fin. You'd over Ro To show : for KCF finite : KPC1 s+ F = L *

- So is arm
. Proj . over Ro. O Aim : suff. to find KPC1 fin

.

Gal
.

S+ F C1 *
*

Il *

B X

Extriots; 1) - Exterior, 1) - Extsim Proof.
-

is must
. by d => Exte(S,

M)"= 0
.

M
↓ C1

*

Galois (11 : K) = 11 : kb) and

-
#

find *B :
Gast */k) = Gal((/k))

.

To

Let et SQS idempotent w supp.
the diag.

Set H = Ga/1
*/F)

.

Then E'
= 11)s s.

+

For N 0 :

prop .
5. 9

(F+()= F

Perfectoid
+ (F : k) = (f)+: k) => F = (f+S d

in char . P #

Write exiyi . Using perfectness : Aust Set M = E
.

Then M ag .
and Perf'd

N/pm
We have w 2xy ->S -> M

*

ag . And perfd .
Set N= 1* M

# Gul .

Now for anyd et can write :
Then NVCM denselsee notes)

de = Faili -S
Krasner's Lemma N ag. closed. Now can

embed FCN = FC L
*

for some 1/kb
Now

O L Galois .S -> /R*1, So #

s to StrsbSais)):

Trig to ribi

Cor . /Fontaine - Winterberger if K = Appirpoy
-

is must. by E. K Perf'd field. Then

Gal([/k) Gal(k)
.

A
·

· So is an nam. Over Ro :
"almost element"

&roof
E ↓

↑
de eS@So for all +my

, e15 ↓ Fet Feth I
isaRbo

M I Y
equivalence

↳is idempotent Supported on the

How,S Hou,
M Sets How

of Goois cats.
E

diagonal .

#



S & R & S, e = [aibi -
finite Proj .

modules
13an

s to Er Ssai) ↑directsummands. ↑* (colini
*

= Colin #Srif to [ribi
.

kbC1
, Gasois

~Colinalime
& on 15) = B) tusai)) = Elite/sai)

#

= N(m

-SS
#hm 14

.

17
,

Talk 3) The functor

# Trs/s(e) = Trak(e) = 1 Afernfet

1 = Trss =Trai & i B
= Flei Trs/rai)

.

is an equivalence. Furthermore
,
1 Afet is

Engeneral : (1) . e = 105) . e Je . here = of -adically complete.

S = Tises/110s) · ef Prop.
1.224 as above is a perfectoib 10-algebra.-

= Trses/s(5sQ) · ef #of (shetch) B is -adically compl . by Thur

= Trsesis /I sai Gli) 4417. To prove I : B/" EB/w
,

use almost analog

= [liTr/sai). of claim
.

Interlude Realizing finitetale algebras as direct summands.

Let R - S be finite etale .
Have

trs/r :

Send a
s

Let et S & S a diagonal idempotent :

e= e, Mre) = 1
,

ver . herr = (0)
.

write eabi
XEact : S-R2

, S

~ Strisai)): "
(i) + ribi.

is ids
, mas S is a direct summand

of R


